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College Algebra — Joysheet 1 Name
MAT 140, Fall 2019 — D. Ivansié Covers: JIT 6, 7, 12-14, 17 Show all
your work!
Write interval notation and sketch on the number line.
1. (3pts) {z|z > 4} 2. (3pts) {z|-4 <z <3}
__W"-‘J‘—h— EW_ d‘,:,a_‘____
(4F M) [.' 4;})
Solve the equations.
3. (3pts) 2z +11=4z-9 }’ 4+ 4. (4dpts) 6(3z+1)—4dx=4-5(z - 2)
e Pplr=g il 1§xrb —4x = 4-sx+10 |15
k=10 19,46 » 14 -6
J= 22210 9¢=§
T

Simplify and write in standard form:
5. (4pts) 3z%(z4+1)— (222 - 1)z +6) =

= 3x43 — (‘2{% 2x'- x-€)
- 324N~ Tt~ N3 L

= = Ixaa b
(n % Uy-9Y4 |- (3x =% =9)
6. (4pts) (5z+1)(3z°-Tz-9) = Ex’w\:f - ><~‘); I

| $x°~ ISx 9Sx 4 Ix =N =9

= ISAP=3xT- 3 =7




Simplify and write the answer so all exponents are positive:
LY 7
7. (2pts) (Bz)’z® = 7Sy ¥ 2 25)(

2 * EYE
8. (2pts) [?;} = %1— 49y = 3

L L 9
0. Bpts) (aaty)ia®y?= lbx"y x " < 16 X7y’
10. (5pts) (dr~2y*)*(zy~2)! =

N

- (:‘T:f;b“xuj-? . C,‘ff;

) =G 1€ =1 s
Guipdys U v D v | G
11. (7pts = = o =
( ) (Budv—4)? f-:-‘;fi—"-é"'._‘[ g é] “qu
£
Factor the following. wid= 4o g
g P o Pred = 59 6 ¢
12. (dpts) 2> +13z+40= 700 13. (dpts) 22 —3z—54= 5. >~) :
)8
!

= (X3 $)(x+5) (x-9)(x+6)

Solve the equations.
14. (6pts) 22 —13=—13z+1 |+)¢~)

15. (6pts) 2 +2c—-1=20-2z |~L0ty
v+ Nx-1420

x494x~2 =0
( x+14)(3~1)=0 (x+ (x~3)=0
X420 o X-] 30 X+)=20 e X~) =0

A= H, X=-973
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